HIGH PRESSURE GEAR PUMP

BAP2(BHP2)

M7 HOW TO ORDER

BA H p H 5 L HE [ e || @& || W@ || MO || MORE || B¥ || FHEE
Front cover Rotation Size Shaft Ports Ports position Seals Options
I I | | I I
RAs P- 4R 45 A D ik 3
Series Pump Group Clockwise 4 4 Ports posifon
BA-HI, F® | |M-HR3# B s 6
WRARAE Motor S | Counter 8 EW-WHME  Omit-Side inlet and side outiet
BA-Front and clockwise 10 B-Ei#f  B-Backinletand front outiet
end cover B1 TERS m C-Fitfidf  C-Backinlet and side outiet
material R <
aluminum Reversible 14 D-ME#Y  D-Sideinlet and front outiet
BH- #, F&htH B 16 R-EiftEd  R-Backinletand back outlet
ﬁﬁf?ﬂﬁrﬁﬁ o 18
BH-Frontand 9 20 fEhE / Drain
end cover material Qi 2 QU-FHk ! intemal drain
prec:éf}rlammnﬁn z Qi -3hERskie | external dra_in Gi/4
"BA'series hlgh Q@ 02—9hiﬂiﬁm | extenal drain 9/16-18 UNF
%0 bar. 30 Q-5 | extemal drain 7/16-20 UNF
Q4-5hEHER | external drain M12x1.5
k3] Seals
EH-RETERE-10C-+80 C H¥ ORRENENA30ar, Omit-Range between ~10°C and +80C,inlet pressure up to max. 3 bar absolute.
V-ERTERAR, BEEEE-10C-+120C, V-Version suitable for fluid at hi~temperatures, range between ~10°C and +120°C.
H-ERFRRNR, BREEEE-40C-+80C, H-Version suitable for fluid at low-temperatures, range between -40°C and +80T.
T-ERFittih A& X4 [EN3-6bar, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-1Z P F it ¥ % K 4504 FE 73~10bar, N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute,
AL/ Options
Qeonet Qoonst
=== fer SRt | RARRCEE S R P _1_1 | R e 1
| | I | |
59 gz
T P i . I
|| = i | I
N a4 7 N | | 5 |
= O =l O |
L] - Lt I s B
il 18 H, ZEREATREA, ZEREME,
BEREEIWAN, HERRME, HAREERRMAO, HARBRERMMA,
fEHER P1=5..250bar, #HEH P1=5...2500ar, FEHI[E P1=100...180bar, #HiRE Qeonst=2...30L/min,
Pressure relief valve. Pressure relief valve. ﬁﬁ?#ﬁrsﬁéﬁmm‘ 3-way flow control valve.
Discharge retumed to suction. Discharge returned to externally. with ph;essure tollof vahe Excess flow reh:mgd to suction.
P1=5..250 bar. P1=5...250 bar. Excess flow retumed to suction. Qeonst=2...30 Limin.
P1=100...180 bar.
1155/ 0rdering code Qeonst= 2...30 Limin,
T80
6B/ Examples:

BHP2-BO-D-3-TO-E0=  JRT$tE, 8 3cofev, BO M, TO1BHEMMM, EOREMN, HalH

clockwise rotation, 3 cc/rev, BO front cover, 1:8 tapered shaft(T0), setting poris EQ type, standard seals
BAP2-A0-D-3-CO-U0= IGIRFSHEE, HEE 3cchev, AOBIE, COEEMMH, U0 REMD, fEMs

clockwise rotation, 3 cc/rev, AQ front cover, CO paralle! shaft, setting ports U0 type, standard seals
BHP2-Q0-D-3-T1-FO-N= JER5HH, HE 3colrev, QUATE, TO 1:63EMEM, FO REMN BEMHN)

clockwise rotation, 3 cefrev, Q0 front cover, 1:8 tapered shaft(T0), setting ports FO fype, high pressure seals(N)



35

BHP2B0

HIGH PRESSURE GEAR PUMP

M6 SR40R 13 M8 BB4LR 17. M6 thread depth 13,M8 thread depth 17.
LEZN, n4MO BSTHEREH To mount the pump, n.4 M10 screws,
70...75 Nm. with a torque wrench setting fixed
i M12x1.25 BEHEFES 50 Nm. at70..75 Nm.
Shaft M12x1.25 nut, with a torque
wrench setting fixed at 50 Nm.
Hin i 4
QUTLET INLET
88 M 40
715 28 12
5 h 9nd H 135
| 3 | ~
wh > >
e N n
83 ] \
5= 3 ) /ﬁ\ O~ —E}
g 14 =t f/“\ )\
g i — 8 o g L L s
R (g%} = - {% wh
A L . .
. O M12x1.25
//
_— d iy D |
=18
31651908 B
b B
p-1 AA
itk #E BAES BRRE BlEkE R+t
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP280-D-3 3 270 285 300 4000 800 911 (436 | 30 | 13 | M6 | 30 |13 | M8
BHP2B0-D-4 4 210 285 300 4000 600 927 (444 | 30 (13 | M6 | 30 [ 13 | ME
BHP2B0-D-6 6 210 285 300 4000 600 9 |46 |30 |13 | M6 | 30 | 13 | M6
BHP2B0-D-8 8 210 285 300 3500 500 993 (47.7 | 30 [ 13 | M6 | 30 | 13 | M6
BHP2B0-D-10 10 210 285 300 3000 500 1026 (493 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-12 12 210 285 300 3000 500 1059 | 51 (40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-14 14 250 265 280 4000 500 1093 [527 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-16 16 250 265 280 4000 500 1127 [544 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-18 18 250 265 280 3600 400 116 | 56 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-20 20 220 235 250 3200 400 119.3 [57.7 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-22 2 220 235 250 3000 400 1226|593 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-25 25 200 215 230 3000 400 1276|618 | 40 | 22 | M8 | 30 | 13 | M6
BHP2B0-D-28 28 180 190 200 2500 400 1326 643 | 40 | 22 | M8 | 30 | 13 | M6
BHP2B0-D-30 30 160 170 180 2500 400 1359 | 66 |40 | 22 | M8 | 30 | 13 | M6




HIGH PRESSURE GEAR PUMP

BHP2B1

3 $ M8 4R 16. M8 thread depth 16.
3 " A\ LEFH, nd MO0 BTHERTH To mount the pump, n.4 M10 screws,
e W) 70..75 Nm. with a torque wrench setting fixed
3 , at 70..75 Nm.
3. A 3
J . |
v
A8
| ##0
OUTLET INLET
88 M 2
70 L
M8 9nd M8 135

©)

A0 -
X i = r{ 2 {é‘% %) -
- L~ ~ 4 =53
5 o o =
ML i [ 1 =
- //
m\h = _@
1l N L
d D
A-A 86
88 38 %
003
Ak #E BXEA BE%E BiiskE R
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2B1-D-3 3 270 285 300 4000 800 911 438 14 10
BHP2B1-D4 4 210 285 300 4000 600 Q7 444 14 10
BHP2B1-D-6 6 210 285 300 4000 600 9 46 14 10
BHP2B1-D-8 8 210 285 300 3500 500 993 477 14 10
BHP281-D-10 10 210 285 300 3000 500 102.6 493 18 15
BHP281-D-12 12 210 285 300 3000 500 1059 51 18 15
BHP2B1-D-14 14 250 265 280 4000 500 109.3 52.1 18 15
BHP2B1-D-16 16 250 265 280 4000 500 "7 544 18 15
BHP2B1-D-18 18 250 265 280 3600 400 116 56 18 15
BHP2B1-D-20 20 220 235 260 3200 400 119.3 517 18 15
BHP2B1-D-22 2 220 235 250 3000 400 1226 59.3 18 15
BHP2B1-D-25 25 200 215 230 3000 400 1218 618 2 15
BHP2B1-D-28 28 180 190 200 2500 400 132.6 64.3 2 15
BHP2B1-D-30 k1) 160 170 180 2500 400 1359 66 2 15




37

BHP2B2

HIGH PRESSURE GEAR PUMP

M6 S40% 13. M6 thread depth 13.
RERH, nd M0 BTHERER To mount the pump, n.4 M10 screws,
70...75 Nm. with a torque wrench setting fixed
S M12x1.5 BBHIEREH 50 Nm. at70..75 Nm.
Shaft M12x1.5 nut, with a torque
wrench setting fixed at 50 Nm.
H#0 0
OUTLET INLET
90 M 38
7
72 9nd L 8.8
T 125
Hﬁ [ =
% EE
- z AN * L Al |- =
< ‘ = S 8 N\ .
\'E'FI Mi2x1.5
390 . 86 > It =15
] W 35 M6 M6 4 8
AA
g HE BXES BEkE BiEsE R+t
Type Displacement Max pressure Max. speed Min. speed Dimensions
P3
BHP2B2-D-3 3 210 285 300 4000 800 91.1 399 15
BHP2B2-D4 4 270 285 300 4000 600 927 399 15
BHP2B2-D-6 6 210 285 300 4000 600 % 4.1 15
BHP2B2-D-8 8 2 285 300 3500 500 9.3 432 15
BHP2B2-D-10 10 210 285 300 3000 500 1026 437 2
BHP2B2-D-12 12 270 25 300 3000 500 1059 415 2
BHP2B2-D-14 14 250 265 280 4000 500 109.3 415 2
BHP2B2-D-16 16 250 25 280 4000 500 1127 415 2
BHP2B2-D-18 18 250 265 280 3600 400 116 475 2
BHP2B2-D-20 20 20 25 250 3200 400 119.3 415 2
BHP2B2-D-22 2 20 25 250 3000 400 1226 55.1 2
BHP2B2-D-25 % 200 25 20 3000 400 1216 618 2
BHP2B2-D-28 28 180 190 200 2500 400 1326 643 2
BHP2B2-D-30 30 160 170 180 2500 400 1359 66 2




BHP2A0(BAP2A0]

DHUHOFRLNT, AOVE

T3, ZIHITHSAE J19261
(180 J1926-1),

HIGH PRESSURE GEAR PUMP

'D" and "d" ports are machined in
compliance with threaded port with
O-ring seal in truncated housing

SAE J1926/1(1SO J1926-1).

Hil A i1
QUTLET INLET
130 M 32
84 106.4 L 24
12.5
A P N UL
8 dl _
== | =P — } =
= 4 = ]
“B |~ > " @ — 8
O=—5 g
=,
d 87 D
3g779% '
= AA
G #E BXEAS GakE BfE%R R+t
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 M L D d
BHP2A0-D-3 3 210 285 300 4000 800 91.1 | 436 | 1116-12UNF T18-14UNF
BHP2A0-D-4 4 270 265 300 4000 600 927 | 444 | 1116-12UNF |  7/8-14UNF
BHP2A0-D-6 6 270 285 300 4000 600 96 46 11/16-12UNF 7/8-14UNF
BHP2A0-D-8 8 270 285 300 3500 500 993 | 477 | 1116-12UNF | 7/8-14UNF
BHP2A0-D-10 10 270 285 300 3000 500 1026 | 493 | 1116-12UNF |  T7/8-14UNF
BHP2A0-D-12 12 270 285 300 3000 500 1059 | 51 | 1116-12UNF | T7/8-14UNF
BHP2A0-D-14 14 250 265 280 4000 500 1093 | 527 | 11M6-12UNF | T7/8-14UNF
BHP2A0-D-16 16 250 265 280 4000 500 1127 | 544 | 1116-12UNF | T7/8-14UNF
BHP2A0-D-18 18 250 265 280 3600 400 16 | 5 | 1116-12UNF | 7/8-14UNF
BHP2A0-D-20 2 220 235 250 3200 400 1193 | 577 | 1116-12UNF |  7/8-14UNF
BHP2A0-D-22 2 220 23 250 3000 400 1226 | 593 | 11M6-12UNF | T7/8-14UNF
BHP2A0-D-25 25 200 215 230 3000 400 1216 | 618 | 1116-12UNF | T7/8-14UNF
BHP2A0-D-28 2 180 190 200 2500 400 1326 | 643 | 1116-12UNF |  T7/8-14UNF
BHP2A0-D-30 30 160 170 180 2500 400 1359 | 66 | 1516-12UNF | T7/8-14UNF

38



39

BHP2Q0

HIGH PRESSURE GEAR PUMP

M6 $B4LR 13. M6 thread depth 13.
RERH, n2 M0 BETHERER To mount the pump, n.2 M10 screws,
45...50 Nm. with a torque wrench setting fixed
S M12x1.5 BBHIEREH 50 Nm. at 45..50 Nm.
Shaft M12x1.5 nut, with a torque
wrench setting fixed at 50 Nm.
0 i
OUTLET INLET
8 M 405
= 60 L 275 13
i 106n.2 105
5= lar]
R i EEEIE
iRz g oo (HIEH S
= I = ol @ o ] T
\%FI Mi2¢1.5
2. L - I =15
i % MG M6 )
j—%
AA
ik HE BXEA REEE i3 R+
Type Displacement Max pressure Max. speed Min. speed Dimensions
P3
BHP200-D-3 3 270 25 300 4000 800 886 74 15
BHP200-D4 4 270 25 300 4000 600 9.2 374 15
BHP200-D-6 6 270 2865 300 4000 600 95 386 15
BHP200-D-8 8 270 285 300 3500 500 9%.8 407 15
BHP2Q0-D-10 10 270 25 300 3000 500 100.4 42 2
BHP2Q0-D-12 12 270 285 300 3000 500 1034 45 2
BHP2Q0-D-14 14 250 265 280 4000 500 106.8 45 2
BHP200-D-16 16 250 25 280 4000 500 1102 45 2
BHP2Q0-D-18 18 250 25 280 3600 400 1135 45 2
BHP2Q0-D-20 2 0 25 250 3200 400 1168 45 2
BHP2Q0-D-22 2 20 235 250 3000 400 1204 526 2
BHP2Q0-D-25 2 200 215 20 3000 400 125.4 593 2
BHP2Q0-D-28 28 180 190 200 2500 400 130.4 618 2
BHP2Q0-D-30 30 160 170 180 2500 400 1334 635 2




BHP2Q1

HIGH PRESSURE GEAR PUMP

M6 41 13. M6 thread depth 13.
ZERH, n2MI0 BTHEREA To mount the pump, n.2 M10 screws,
45...50 Nm, with a torque wrench setting fixed
S M12x1.5 BBHIEREH 50 Nm. at45..50 Nm.
Shaft M12x1.5 nut, with a torque
wrench setting fixed at 50 Nm.
0 ##0
OUTLET INLET
86 M 405
73 60 L 275 13
@ 106n.2 105
= (=5
Eor® NN EaT
= s | e @Y s
= _ 2l ® 4 o V|
| | L e P
' Pary
Lgfi R @ s
30 s D 17 =15
. ? 35 M6 Mg 40
o
AA
1% #E BXES BRkE BifdE R+
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 M L D
T inin) —
BHP2Q1-D-3 3 270 25 300 4000 800 886 374 15
BHP2Q1-D4 4 270 285 300 4000 600 90.2 374 15
BHP2Q1-D-6 ] 270 25 300 4000 600 935 386 15
BHP2Q1-D-8 8 270 285 300 3500 500 96.8 407 15
BHP2Q1-D-10 10 270 285 300 3000 500 100.1 412 20
BHP2Q1-D-12 12 270 285 300 3000 500 1034 45 20
BHP2Q1-D-14 14 250 265 280 4000 500 1068 45 2
BHP2Q1-D-16 16 250 265 280 4000 500 1102 45 2
BHP2Q1-D-18 18 250 265 280 3800 400 135 45 2
BHP2Q1-D-20 20 20 25 250 3200 400 1168 45 2
BHP2Q1-D-22 2 220 25 250 3000 400 1201 526 2
BHP2Q1-D-25 2% 200 215 20 3000 400 1254 59.3 2
BHP2Q1-D-28 28 180 190 200 2500 400 1304 61.8 2
BHP2Q1-D-30 30 160 170 180 2500 400 1334 635 2

40



41

BHP2Q2

HIGH PRESSURE GEAR PUMP

M6 4R 13. M6 thread depth 13.
RERH, n2 M0 BTHEREA To mount the pump, n.2 M10 screws,
45..50 Nm. with a torque wrench setting fixed
BREERKAHIER 70 Nm. at45..50 Nm.
Shaft M12x1.5 nut, with a torque
Coupling Max. torque 70 Nm.
A 0
QUTLET INLET
86 M
60 L
27 S 72
106n.2
L EE /”//I\\n J b i
o = N\ o [ g N4 % g8
s = . J N
g| i\ S 5 =
U
15 D
COUPLING
35 Ms 8 12 Mp 40
] 4 8 1
g HE BAES BERR BlEwR R+t
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP202-D-3 3 270 285 300 4000 800 886 74 15
BHP202-D-4 4 270 285 300 4000 600 9.2 374 15
BHP202-D6 6 270 285 300 4000 600 95 386 15
BHP202-D-8 8 27 285 300 3500 500 9.8 407 15
BHP202-D-10 10 210 285 300 3000 500 100.1 42 20
BHP2Q2-D-12 12 270 285 300 3000 500 1034 45 20
BHP202-D-14 14 250 25 280 4000 500 1068 45 20
BHP2Q2-D-16 16 250 265 280 4000 500 110.2 4 20
BHP202-D-18 18 250 2%5 280 3600 400 1135 45 20
BHP202-D-20 2 20 235 250 3200 400 1168 45 2
BHP202-D-22 2 20 285 250 3000 400 12041 526 20
BHP202-D-25 % 200 215 230 3000 400 1251 593 20
BHP202-D-28 28 180 190 200 2500 400 130.4 618 20
BHP202-D-30 30 160 170 180 2500 400 1334 835 2




BHP2A0-R

'D'HdHOEBLMI, AOKE
B EH T AISAE J1926/1

(IS0 J1926-1),

LT, nd MO0 BTHETES
70..75 Nm.

HIGH PRESSURE GEAR PUMP

"D" and "d" ports are machined in

compliance with threaded port with

0O-ring seal in truncated housing
SAE J1926/1(1S0 J1926-1).

To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed

at70...75 Nm.
0 il
OUTLET INLET
130 32 M
106.4 24
6.4 48 125
] 1]
A, 8
— — =2 C\ I — 1 .
Ay — ] % (_J ! ,. / ré ] = A== ‘g_
L [+ N \Euffk ﬂ Z | s . -
[z I £ — 1
O D s
d D
& #e EXES BEkE RifH&E R
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2A0-D-3R 3 270 285 300 4000 800 103.1 1 1116-12UNF 7/8-14UNF
BHP2A0-D4R 4 210 285 300 4000 600 104.7 1 1/16-12UNF 7I8-14UNF
BHP2A0-D-6-R 6 270 285 300 4000 600 108 1 1116-12UNF 718-14UNF
BHP2A0-D-8R 8 210 285 300 3500 500 113 1 1/16-12UNF TI8-14UNF
BHP2A0-D-10-R 10 270 285 300 3000 500 114.6 1 1118-12UNF 718-14UNF
BHP2A0-D-12-R 12 210 285 300 3000 500 117.9 1 1/16-12UNF 7/8-14UNF
BHP2A0-D-14-R 14 250 265 280 4000 500 1213 1 1/16-12UNF TI8-14UNF
BHP2A0-D-16-R 16 250 265 280 4000 500 124.7 1 1/16-12UNF TI8-14UNF
BHP2A0-D-18-R 18 250 265 280 3600 400 128 11/16-12UNF 718-14UNF
BHP2A0-D-20-R 20 220 235 250 3200 400 1313 1 1/16-12UNF 7I8-14UNF
BHP2A0-D-22-R 2 220 235 250 3000 400 1346 1 1/16-12UNF TI8-14UNF
BHP2A0-D-25-R 25 200 215 230 3000 400 1396 1 1/16-12UNF 7I8-14UNF
BHP2A0-D-28-R 28 180 190 200 2500 400 1446 1 1/16-12UNF 7I8-14UNF
BHP2A0-D-30-R 30 160 170 180 2500 400 1479 1 1/16-12UNF T/8-14UNF




HIGH PRESSURE GEAR PUMP

BHP2A0-Fx

‘D' HOFRLMT, FOKE 'D" and "d" ports are machined in

4 FWHITRSAE J1926/1 compliance with threaded port with

(IS0 J1926-1), 0-ring seal in truncated housing

RERE, nd M0 BTHERTH SAE J1926/1(1S0 J1926-1).

70...75 Nm. To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed
at70..75 Nm.

i #hn
OUTLET INLET
130 M 38
125 1064 N
6.4 L

}
]
.

14

™

#1863

:
=OF]|
/Y
©
D

[=-]
[=7]
o
L=

DP16/32-30° -11T

i 4R BHEN | &eRR | BAWE | BEwd ot
Type Displacement | Control pressure |  Confrol flow Max. speed Min. speed Dimensions
P1 M L N D d
BHP2A0-D-3-Fx 3 4000 800 121 | 436 | 921 | 11M6-12UNF T18-14UNF
BHP2A0-D-4-Fx 4 4000 600 137 | 444 | 937 | 1116-12UNF TI8-14UNF
BHP2A0-D-6-Fx 6 4000 600 1 | 46 97 | 11/16-12UNF TI8-14UNF
BHP2A0-D-8-Fx 8 3500 500 1203 | 477 | 1003 | 11/16-12UNF T/8-14UNF
BHP2A0-D-10-Fx 10 3000 500 1236 | 493 | 1036 | 11/16-12UNF T/8-14UNF
BHP2A0-D-12-Fx 12 3000 500 1269 | 51 |1069 | 11/16-12UNF TI8-14UNF
BHP2A0-D-14-Fx 14 100...180 2.30 4000 500 1303 | 527 | 1103 | 1116-12UNF TI8-14UNF
BHP2A0-D-16-Fx 16 4000 500 1337 | 544 | 1137 | 11H6-12UNF TI8-14UNF
BHP2A0-D-18-Fx 18 3600 400 137 | 56 17 | 1116-12UNF T18-14UNF
BHP2A0-D-20-Fx 20 3200 400 1403 | 57.7 | 1203 | 1116-12UNF TI8-14UNF
BHP2A0-D-22-Fx 2 3000 400 1436 | 593 | 1236 | 11/16-12UNF TI8-14UNF
BHP2A0-D-25-Fx 25 3000 400 1486 | 618 | 1286 | 11/6-12UNF TI8-14UNF
BHP2A0-D-26-Fx 28 2500 400 1536 | 643 | 1336 | 11/16-12UNF TI8-14UNF
BHP2A0-D-30-Fx 30 2500 400 1569 | 66 | 1369 | 11/16-12UNF T18-14UNF




#3650

BHP2B0-FAx

HIGH PRESSURE GEAR PUMP

M6 240K 13 M18x1.5 BLLR 14. M6 thread depth 13,M18x1.5 thread depth 14.
RERRY, n4 M0 BETHERT A To mount the pump, n.4 M10 screws,
70..75 Nm. with a torque wrench setting fixed
Sifin M12x1 258 B AE357E 7 50Nm. at 70...75 N,
Shaft M12x1.25 nut, with & torque
wrench setting fixed at 50 Nm.
il iig 18]
OUTLET INLET
88 N 4
135 M 715 L % 12
5 9n4
oL T s % 4
/’ﬂ\ B
: A
O): O |
- & / <
el Mi2x1 25
36500 v \@ D o =18
] 51 49 M18x1.5 / M6 4
=3 AA
s Hi BHEA EHiRE Ba%kE RiREE R+
Type Displacement | Confrol pressure Control flow Max. speed Min. speed Dimensions
P1 Quonst M L N D
BHP280-D-3-FAx 3 4000 800 1121 436 9.1 15
BHP2B0-D-4-FAx 4 4000 600 1137 444 97.7 15
BHP280-D-6-FAx ] 4000 600 117 4 101 15
BHP2B0-D-8-FAx 8 3500 500 120.3 417 1043 15
BHP280-D-10-FAx 10 3000 500 1236 493 1076 20
BHP2B0-D-12-FAx 12 3000 500 126.9 51 1109 20
BHP2B0-D-14-FAx 14 100...180 2.3 4000 500 1303 52.7 1143 20
BHP2B0-D-16-FAx 16 4000 500 1337 544 177 20
BHP2B0-D-18-FAx 18 3600 400 137 56 121 20
BHP2B0-D-20-FAx 20 3200 400 140.3 51.7 1243 20
BHP2B0-D-22-FAx 2 3000 400 1436 50.3 1276 20
BHP2B0-D-25-FAx 25 3000 400 148.6 61.8 1326 20
BHP2B0-D-28-FAx 28 2500 400 1536 64.3 1376 20
BHP2B0-D-30-FAx 30 2500 400 1569 66 1409 20

44



BAP2B3

HHAAR, AT

BEAHEESE,
MBEREL 7 13.

ZRFEH, nd MOBSTHEREH

HIGH PRESSURE GEAR PUMP

Pump with bearing, This option allows
radial andfor axial loads on the pump shatt.
M6 thread depth 18.

To mount the pump, n.4 M10 screws,

70..75 Nm. with a torque wrench setting fixed
ShEM14x1 SEBHBRES 70 Nm. at70..75 Nm.
Shaft M14x1.5 nut, with a torque
——t = wrenchs efting fixe d  at 70 Nm.
I
i
B iig|u
OUTLET INLET
%0 M 45
72 L
9nd 13
<A . 192
y = |_|€ ; 1
5 e ¥ 5 95
o | 7SR =
gs 7 N == =
= I % 2
= T 8|8 Ak R
2 |lo==¢] i I
K—
A
@ \ I 8 M12x1.5
15 D
s =15
_ 35 M6 M6 40 95
AA
Ak #E BREA BEHE Rif&E Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2B3-D-3 3 270 285 300 4000 800 1234 718 15
BHP2B3-D-4 4 270 285 300 4000 600 1247 719 15
BHP2B3-D-6 6 270 285 300 4000 600 1280 731 15
BHP2B83-D-8 8 270 285 300 3500 500 1313 752 15
BHP283-D-10 10 270 285 300 3000 500 1346 757 20
BHP283-D-12 12 270 285 300 3000 500 137.9 795 20
BHP2B3-D-14 14 250 265 280 4000 500 1413 795 20
BHP2B3-D-16 16 250 265 280 4000 500 1447 795 20
BHP283-D-18 18 250 265 280 3600 400 148.0 795 20
BHP283-D-20 20 20 235 250 3200 400 1513 795 20
BHP2B3-D-22 2 220 235 250 3000 400 1548 87.1 20
BHP2B3-D-25 25 200 215 230 3000 400 158.6 938 20
BHP2B3-D-28 28 180 180 200 2500 400 164.6 9.3 20
BHP2B3-D-30 30 160 170 180 2500 400 1679 98.0 20




HIGH PRESSURE GEAR PUMP

BHM2B0

M6E4IR 13, MBELIR1T. M6 thread depth 13, M8 thread depth 17.
ZERR, nd MOESTHERTEH To mount the pump, n.4 M10 screws,
70...75 Nm. with & torque wrench setting fixed
ShEM12x1 25 BRI S 50 Nm. at70..75 Nm.

Shaft M12x1.25 nut, with a torque
wrenchsetting fixed at 50 Nm.

ol
-
=
M 40 B8
L 28 12 715

g147
325
| @%
N
9365308
]‘EL e
A\

-~ c;
U
oy f( -\ =+ | w & _L___— f( B
= g . —| & B L
\'g e \~V
M1241.25 = ] E_f
D = d _ D
=18
Gi/4 316540
B 86 B

Pe= GIEEEENER Pe=max peak input pressure

Pe= EEESEEEH Pc=max pressure continually as output counterpressure e AA

Pi= BREEHAEN P =max peak input pressure continually

1 #HE mAEN BEHH iR Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 M L B D H

BHM2B0-R-3-01 3 280 270 295 4000 800 9.1 436 30 13 Mé
BHM2B0-R—4-Q1 4 280 270 295 4000 600 27 444 30 13 M6
BHM2B0-R-6-Q1 6 280 270 295 4000 600 9.0 46.0 30 13 M6
BHM2B0-R-8-Q1 8 280 270 295 3500 500 9.3 4.7 30 13 M6
BHM2B0-R-10-Q1 10 280 270 295 3000 500 1026 493 40 20 M8
BHM2B0-R-12-Q1 12 280 270 295 3000 500 105.9 5.0 40 20 M8
BHM2B0-R-14-Q1 14 260 250 275 4000 500 108.3 52.7 40 20 M8
BHM2B0-R-16-Q1 16 260 250 275 4000 500 127 544 40 20 M8
BHM2B0-R-18-Q1 18 260 250 275 3600 400 116.0 56.0 40 20 M8
BHM2B0-R-20-Q1 20 230 220 245 3200 400 119.3 51.7 40 20 M8
BHM2B0-R-22-Q1 22 230 220 245 3000 400 1226 59.3 40 20 M8
BHM2B0-R-25-Q1 25 210 200 225 3000 400 1276 618 40 22 M8
BHM2B0-R-28-Q1 28 200 190 215 2500 400 1326 64.3 40 22 M8
BHM2B0-R-30-Q1 30 180 170 195 2500 400 135.9 66.0 40 2 M8




BAP2(BHP2]

HIGH PRESSURE GEAR PUMP

Bi&/FRONT COVER B/SHAFTS
715 135 4 3.5 »
9 - 5 12 r;; 30 K e 2
w0 6 r B B & - -
] 7 w = F
& \@ g - ] |
\’/ ‘JI > = w
I ':'G —
A =18 X =
<3185 = & 4 DIN5482 B17X14
B T S7
RAHE aAHE RAHE
Max.Torque 200 Nm Max.Torque 135Nm Max.Torque 150 Nem
70 135 2 40 14
9
= 5 : |
T W = [ s — }1
81 |7 % | = T = = !
o J ﬁ ]
i ; . 10
B = L1501 4t
B L H L GO0
RAHE RAHSE RAHE
Max.Torque 150 Nm Max.Torque 185Nm Max.Torque 100 Nen
125 3 3%
13 22
= 4 T
17 -
=15 &= -
<5 = = DINS482 B17X14
B2
BAHE sAHE mAHE
Max.Torque 180 Nm Max.Torque 150Nm Max.Torque 150 Nm
60 405 14
- 106 72 13 - O
:l Y = " 17 &
Jr Y ) . E - it _ | ]
N | . | T=_|
o | O L7 wl = - FJ
=15 & o I
<7 3 DIN5482 B17X14
G0
BAHE sAHE mAHE
Max.Torque 180 Nm Max.Torque 100N Max.Torque 150

47



BAP2(BHP2)

HIGH PRESSURE GEAR PUMP

Bi=/FRONT COVER ifH/SHAFTS
60 405 14
— %
@ 106 72 13 - r_. L—‘ -
= Fy =] :—w' 17 ]
R e : f=
N - ; = |
$’ | $ [ 1? i = I'*I IJ
=15 g I
<7 8 DIN5482 B17X14
Qf L GO0
SAHE RAHE RAHE
Max. Torque 180 Nm Max. Torque 100 Nen Max.Torque i
60
gl 106 o 12
f 2 By
JHON H = :
' %
Q b 65 TA 27
BAAE
Max.Torque 100 Nm
1064 64 K k) 2
B B
125 _ N H i
=>4 = ] L gF i g® i g 8
- & ag 478 < 5
SAAE RAHE SAHASE
Max.Torque 140Nm Max.Torque 160 Nem Max.Torque 160 Nm
e g e U5
-2 Mo ]J:
i HE 1
| ! =
| I |
» - = 5 g
DP16/32-30° -9T DP16/32-30° ~11T DP16/32-30° 10T
&0 [ S8
BAAE RAHE SAHE
Max.Torque 185 Nm Max.Torque 200 N Max.Torque 90N

48



HIGH PRESSURE GEAR PUMP

BAP2(BHP2)

i A/PORTS
Fan
-~
A 1] WORS i k0
= ¢-+ - TYPE PORTS CODE INLET OUTLET
, 7
g -
‘ = BA(HJP2..3 + BA(H)P2..8 E0 0 | 18 | M | 0 | 13 | M
n4ce) BA(HJP2..10 + BAH)P2..22 Ef 0 | 0 | w8 | 0 | 13 | M
EO/E1/E2 BA(H)P2..25 + BA(H)P2..30 E2 0 | 2 | w | 0 | 13 | M
f"‘\x
2 B i il iyl
s 0y . TYPE INLET OUTLET
20 .
&
r = BA(H)P2..3 + BA(H)P2..8 8 | 14 | M8 | 3 | 10 | M
n4Clc) BAMP2.10:BAMP2.22 | 38 | 18 | M8 | 38 | 15 | M8
BAH)P2..25 + BA(HIP2..30 38 | 20 | M8 | %8 | 15 | M8
—0 -
TN 2t e H#
< "+ 3 TYPE INLET OUTLET
37
= BA(H)P2...8+ BAH)P2...10 £ 1 Mg 40 13 M8
n4C(c) BA(HP2...12.: BAMHJP2..20 ) 19 M8 | 4 B | we
Ed BA(HJP2..22 + BA(H)P2..28 o | 19 | M | 4 | 10 | M
BAH)P2..30 0 | 2 | M | 4 | 19 | M
TS
‘@( = g HORS pig{u] 0
-~ TYPE PORTS CODE INLET OUTLET
‘C:'?(\ _ A B C a b o
‘ BA(HIP2..3 + BAH)P2..8 Fo 40 15 M6 3% 15 M6
n4C(0) BA(HJP2..10.+ BA(H)P2..30 F1 40 20 M6 3 15 M6
FO/F1/F5 BA(H)P2...16 < BA(H)P2...30 F5 55 26 M8 55 18 M8

49



HIGH PRESSURE GEAR PUMP

BAP2(BHP2)

il O/PORTS
& ’ @
] \ # HORE 40 D
g s 3 % > \nacp TYPE PORTS CODE INLET OUTLET
A A B c D a b c d
b oK BA(H)P2..3 + BAH)P2..16 P2 |381 /1748 | 516-18UNC | 13 |38.1 (17.48 | 5/16-18UNC |13
BO) BA(H)P2..18 + BA(H)P2..20 3 |4763 2223 | 38-16UNC |20 | 381 [17.48 | 516-18UNC | 13
F2/F3/F4 BA(H)P2..22 + BA(H)P2..30 F4 4763 (2223 | 3/B-16UNC | 20 |47.63 [22.23 | 3/8-16UNC | 20
e AORS #imn Hiwn
y TYPE PORTS CODE INLET QUTLET
%@ T T T ]
- BA(H)P2..3+ BA(H)P2..6 L0 Gi2 G1/2
BA(H)P2...8+ BA{H)P2..30 L1 Gal Gi2
BA(H)P2...16 < BA(H)P2...30 L3 G1 G4
BA(H|P2..8 + BA(H]P2..30 L4 G3/4 Gal4
ﬁ@ 4 uoks 240 -
= TYPE PORTS CODE INLET QUTLET
: [ I N
BA(H)P2..3 + BAH)P2..12 RO P12 PTIR2
BAHIP2..14 + BAH)P2..25 R P34 PTIR
BAHPR. 28+ B2 e x P
b1 woRe ##H0 iih: ]
TYPE PORTS CODE INLET QUTLET
BA(H)P2..3 - BAH)P2..28 uo 11116-12 UNF 7/8-14 UNF
BAH)P2..30 u 15/16-12 UNF 718-14 UNF
BA(H)P2...3+ BA(H)P2...28 U2 7/8-14 UNF 3416 UNF

UoU1/U2IU3 BA(H)P2..8 - BA(H)P2..30 U3 15/16-12 UNF 11/16-12 UNF




